
(1) M90-501-11
FLAME ARRESTOR

(1) M332-301-11
HEAT EXCHANGER

(1) M281-430-01
FILTER HOUSING
(1) M30-411-01R
FILTER ELEMENT

(6) M90-371-14
Stud

(1) M90-133-01
COPPER GASKET

(1) M90-122-01
EXHAUST ELBOW

8102 LEMONT ROAD, SUITE 700
WOODRIDGE, IL 60517

DESCRIPTIONDATEREV NAME

DRY SYSTEMS
TECHNOLOGIES Sept 18 2018 Ward FoxFULL

Phone: 630-427-2051  Fax: 630-427-1036
E-Mail: eng@drysystemstech.com

DRAWING NO

MATERIAL APPROVED BY

DATE

DST EXHAUST SIDEVIEW
SCALE

DESCRIPTION

DRAWN BY

NO REQ'D

The Cummins Diesel Engine, Water-cooled
Exhaust Manifold and Water-cooled Turbo-
charger are not shown in this view

Components upstream of the
Heat Exchanger are not shown
in this drawing

 Cummins 8.3 Turbo

(8) M503-507-01
Hex Head Screw 3/8-16 x 1
(8) M600-123-01
Lockwasher 3/8 Ø

(8) M515-500-04
Hex Head Screw 3/8-16 x 1.75

Lockwasher 3/8 Ø

(8) M600-109-01
Hex Nut 3/8-16
(8) M600-123-01

Lockwasher 3/8 Ø

(6) M600-109-01
Hex Nut 3/8-16
(6) M600-123-01

SECTION 2-04

(1) M250-541-01
SPRINKLER HEAD


